Date Commission Expires T.C.

NOTART COMMANDE STATE OF ACCUSAGE MY Appl. Exc. 6-30-95

NOTART Curt.

CONSERVATION ALCO-1 (7-91) WICHITA, KS

(Specify)

URIGINAL

EMPHASIS OIL OPERATIONS

P. O. BOX 506

RUSSELL, KS 67665

DRILLERS LOG

OPERATOR: National Petroleum Reserves, Inc.

250 N. Rock Road, Suite #340

Wichita, Kansas 67206

CONTRACTOR: Emphasis Oil Operations

Box 506

Russell, KS 67665

LEASE: Haag

WELL #1

LOCATION: Approx. NE NW SW

Section 19-19S-27W Lane County, Kansas

LOGGERS TOTAL DEPTH: 4649'

ROTARY TOTAL DEPTH: 4650'

ELEVATION: 2745' K.B.

COMMENCED: 11/5/91

COMPLETED: 11/13/91

CASING: 8-5/8" @ 296' w/190 sks cement

STATUS: Dry Hole

DEPTHS & FORMATIONS

(All measurements from K.B.)

Shale	300'	Lime	3000'
Sand & Shale	450 '	Shale	32 7 5 '
Sand	1554'	Lime	3510'
Shale	1791'	Shale & Lime	3925 '
Shale & Anhydrite RECEIVED	1980'	Lime	4090'
Shale & Lime KANSAS CORPORATION COMMISSION	2365'	R.T.D.	4650'

JAN 17 1992 1-17-92 CONSERVATION DIVISION

STATE OF KANSAS

WICHITA, KS

COUNTY OF RUSSELL)

Kyle B. Branum, of Emphasis Oil Operations, states that the above and foregoing is a true and correct log of the above captioned well, to the best of his knowledge.

Subscribed and sworn to before me on November 14, 1991.

My commission expires: February 6, 1992.

GLENDA R. TIFFIN NOTARY PUBLIC STATE OF KANSAS MY APPT. EXPIRES 2-6

INVOICE

A Halliburton Company

INVOICE NO. DATE 11/06/1991 194930

	WELL LEASE NO /PLANT A	IAME***	WELL/P	LANT LOCATIO		STATE	WELL	IPLANT OWNE	A
HAAG	1	en e	LANE		erent i jamen jatoren jarotat. En	KS	SAME		
	SPÁVICE LOCATION	CONTRA	СТОВ		JOB PURPO)8E		TICKET	DATE
NESS	CITY	EMPHASIS_		CEMENT	SURFACE	CASI	NG	11/0	6/1991
ACCT. N	IO CUSTOMER A	GENT	VENDOR NO.	c	USTOMER P.O. N	UMBEA !	SHIPPE	D VIA	FILE NO.
62354	41 JACK D. FOX				···		COMPANY	TRUCK	25368

NATIONAL PETROLEUM RESERVES 250 N. ROCK RD. SUITE 340 WICHITA, KS 67206

DIRECT CORRESPONDENCE TO: FIRST OKLAHOMA TOWER 210 WEST PARK AVENUE SUITE 2050 OKLAHOMA CITY, OK 73102-5601

PRICE REF. NO.	DESCRIPTION	QUANTITY	U/M	UNIT PRICE	AMOUNT
PRICING ARI	A - MID CONTINENT				
000-117	MILEAGE	31	MI	2.60	80.60
		1	ľ	1	
001-016	CEMENTING CASING		FT	475.00	475.00
		1	UNT		
030-503	CMTG PLUG LA-11, CP-1, CP-3, TOP	8 5/8	IN	90.00	90.00
			EA	1	1 5 5 gmm. 2 0000
504-308	STANDARD CEMENT	117		5.45	637.65
506-105	POZMIX A	78	SK	3.40	265.20
506-121	HALLIBURTON-GEL 2%	3	SK	.00	N/C
509-406	ANHYDROUS CALCIUM CHLORIDE	5	SK	26.25	131.25
500-207	BULK SERVICE CHARGE	205	CFT		235.75
500-306	MILEAGE CMTG MAT DEL OR RETURN	270.785	TMI	.80	216.63
	***	,			
	INVOICE SUBTOTAL				2,132.08
	DISCOUNT-(BID)				426.41-
	INVOICE BID AMOUNT				1,705.67
		m 3 12			50.55
	*-KANSAS STATE SALES	TAX			50.55
]		
]		
	1 / James		5 25	CEIVE	
	Concert reflece coming	·	14000	RPORATION C. SSI	
	6	[(AR)	142 00		Strange market which to public to
] .	A 7 1000	
			J	AN 17 1882	
			İ	1-17-92	
			CONS	LEBATION NOTON	
			"	WICHITA, KS	V4.
	INVOICE TOTAL - PLEASE PAY THI	S AMOUNT ==	= = =		\$1,756.22
			ļ		<u> </u>

STOMER COPY

HAAG

INVOICE

HALLIBUIDTON SERVICES

REMIT TO: P.O. BOX 951046

IGINAL DALLAS, TX 75395-1046

1 ? 0 4 1 5 1 1 1 9 9 1

A Halliburton Company

WELL LEASE NO /PLANT NAME WELL/PLANT LOCATION STATE WELL/PLANT OWNER

LANE KS SAME

SERVICE LOCATION CONTRACTOR JOB PURPOSE TICKET DATE 11/13/1991 HAYS EMPHASIS PLUG TO ABANDON CUSTOMER P.O. NUMBER FILE NO. SHIPPED VIA ACCT. NO. CUSTOMER AGENT VENDOR NO. COMPANY TRUCK 25645 623541 JACK D. FOX

> NATIONAL PETROLEUM RESERVES 250 N. ROCK RD. SUITE 340 WICHITA, KS 67206

DIRECT CORRESPONDENCE TO:
FIRST OKLAHOMA TOWER
210 WEST PARK AVENUE
SUITE 2050
OKLAHOMA CITY, OK 73102-5601

PRICE REF. NO.	DESCRIPTION	QUANTITY	U/M	UNIT PRICE	AMOUNT
DETCING AD	EA - MID CONTINENT		<u> </u>		
000-117	MILEAGE	3 2	MI	2.60	83.20
VVV III	**************************************	1		1	
090-910	MISCELLANEOUS PUMPING JOB	ī	TRK	l i	370.00
090-928	MISCELLANEOUS PUMP JOB-ADD HRS	1	HR	84.00	84.00
		1	TRK		
504-308	STANDARD CEMENT	153	SK	5,45	833.85
506-105	FOZMIX A	102	SK	3.40	346.80
506-121	HALLIBURTON-GEL 2%	4	SK	.00	N/C
507-277	HALLIBURTON-GEL BENTONITE	9	SK	14.75	132.75
507-210	FLOCELE	64	1	1.30	83.20
500-207	BULK SERVICE CHARGE	277			318,55
500-306	MILEAGE CMTG MAT DEL OR RETURN	372.704	TMI	.80	298.16
					A Property of the Control of the Con
	INVOICE SUBTOTAL			1	2,550.51
	DICCOMMUNICATION				510.10-
	DISCOUNT-(BID) INVOICE BID AMOUNT				2.040.41
	INVOICE BID SMOOM!				2,040.41
				·	
	Coment, plug well	v			ner
		~	- 1 N S E	n	
	·	REC	- 8 W	COMMISSION	^
		KANSAS CORPOR	ATION	COMMISSION	3 1
·				L 197	· .
	·	JAN	1 (19	927-72	
		\sim		1 <u>/</u>	
		CONSERV	ATION	DIVISION	
		Will	HITA,	KS	
	·	441	[[
					i k
. :	INVOICE TOTAL - PLEASE PAY THI	S AMOUNT ==	***		\$2,040.41
	<u> </u>				